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Question Number : 1 Question Id : 50521227105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of use of gross motor skills?
Options:

1. Balancing on one foot

2. Squeezing a pea

3. Turning pages of a book

4. Holding a pencil

Question Number : 1 Question Id : 50521227105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521227106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Development changes are a result of -

Options :

1. Unigque combination of genetic and environmental circumstances.
2. Only genetic makeup of an individual.

3. Only socio-cultural factors.

4. Neither hereditary nor environmental factors.

Question Number : 2 Question Id : 50521227106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 50521227107 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The period from 2 years to 6 years is referred to as -
Options:

1. Infancy

2. Early childhood

3. Middle childhood

4. Adolescence

Question Number : 3 Question Id : 50521227107 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521227108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A lot of children'’s play in the cities is based on reality T.V. shows that they see.

Reason (R): Apart from family and peers these days media is becoming an important agency of

socialization of children.

Choose the correct options.



Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false

Question Number : 4 Question Id : 50521227108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521227109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following factors are considered important by Piaget to facilitate learning?
(i) Mobility of the teacher

(i) Provisioning of diverse materials



(iii) Providing moderately novel experiences

(iv) Ensuring positive and negative reinforcement
Options :

1. (i) (iv)

2. (i) (i) (iii)

3. (i) (iii) (iv)

4. (i) (ii) (iii) (iv)

Question Number : 5 Question Id : 50521227109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. (D) (i) (iii) (iv)

Question Number : 6 Question Id : 50521227110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



At which stage do children have an animistic view of the larger world and believe that the trees

and plants as well as moving clouds and rolling stones can have motives and intentions?
Options :

1. Sensori-motor stage

2. Pre-operational stage

3. Concrete operational stage

4. Formal operational stage

Question Number : 6 Question Id : 50521227110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521227111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Language plays an important role in the cognitive development of children in the theory of -
Options :

1. Lev Vygotsky



2. Jean Piaget
3. Howard Gardner

4. Lawrence Kohlberg

Question Number : 7 Question Id : 50521227111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521227112 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Vygotsky, children learn by-
Options :

1. having competitions

2. interaction with peers

3. striving for rewards and avoiding punishments

4. making stimulus-response connections

Question Number : 8 Question Id : 50521227112 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521227113 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a child-centered classroom children-

Options:

1. are looked at as passive imitators.

2. are actively engaged in construction of knowledge.
3. are eager to copy answer from blackboard as it is.

4. have to be passive listeners only.

Question Number : 9 Question Id : 50521227113 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521227114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair?

Options :

1. Punishment and Obedience orientation-Laws are not fixed but can be changed for the good of
the society.

2. Good-Boy - Good-girl orientation - one earns approval by being nice.

3. Law and Order Orientation - Ethical principles are self-chosen than on the basis of the value of

human rights.

4. Social Contract orientation - Physical consequences of an action determine whether it is

good/bad.

Question Number : 10 Question Id : 50521227114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521227115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Howard Gardner's theory person high on intelligence can recognize and

are aware of the beauty of different species of flora and fauna.
Options :

1. spatial

2. naturalistic

3. musical

4. inter-personal

Question Number : 11 Question Id : 50521227115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521227116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 recommends -
Options :

1. Multilingualism.

2. Monolingualism.

3. Standardization of curriculum.

4. Standardization of assessment.

Question Number : 12 Question Id : 50521227116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521227117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher holds the perception that boys are more intelligent and risk taking and girls are

obedient and sincere and treats them accordingly. This is an example of -
Options :

1. gender bias.

2. gender constancy.

3. gender equity.

4. gender equality.

Question Number : 13 Question Id : 50521227117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 50521227118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Teachers should use a wide variety of assessment tools and technique to assess

children.

Reason (R): No single assessment tool is capable of providing information about a child’s progress



and learning in different areas of development.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false

Question Number : 14 Question Id : 50521227118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521227119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following situation does NOT illustrate assessment for learning?



Options :

1. Students actively think about where they are, where they are going and how to get there.
2. Teachers give constructive qualitative feedback to facilitate learning.

3. Constant comparisons are made between the students to enhance performance.

4, Several methods of formative assessment such as peer and self-assessment are used.

Question Number : 15 Question Id : 50521227119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 50521227120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Inclusive Education requires:
Options :

1. Flexible pedagogies

2. Inaccessible building

3. Rigid mindsets

4. Standardized curriculum



Question Number : 16 Question Id : 50521227120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521227121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following disability causes challenges in ‘social communication’?
Options :

1. Autism

2. Dyscalculia

3. Dysgraphia

4. Locomotor disability

Question Number : 17 Question Id : 50521227121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

s

[ S O Fidn) ey N
I IGIEG R

3 S [ . 2 2%
Hﬁ"llﬂ-—lﬂ- S el “HIHI=Sh H=lid q"fl;‘illd*—ull AR ﬂﬂf‘lﬁi %q

Options :



e =g

»

Question Number : 18 Question Id : 50521227122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following helps in inclusion of learners from disadvantaged and deprived groups?
Options :

1. Consideration of diversity

2. Decontextualized curriculum

3. Pedagogy centered towards dominant group

4. Standardized testing

Question Number : 18 Question Id : 50521227122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521227123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Provision of multiple modes of representation of content will help in inclusion of:
(i) students with hearing impairment

(i) students with visual impairment

(iii) students facing learning difficulties

(iv) students facing locomotor difficulties
Options:

1. (i)

2. (ii), (iii)

3. (i), (ii), (iv)

4. (i), (ii), (iii), (iv)

Question Number : 19 Question Id : 50521227123 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 50521227124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accommodation strategy for

inclusion of students which specified disability?
Options :

1. Dyscalculia: Provision of calculator

2. Dyslexia: Assigning lengthy written assignments
3. Hearing Impairment: Giving audio tapes

4. Visual Impairment: Providing picture books

Question Number : 20 Question Id : 50521227124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 50521227125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In early grades, which of the following approaches is preferable for teaching-learning process?
Options:

1. Imitation without understanding

2. Learning by doing

3. Passive listening

4. Rote-memorisation

Question Number : 21 Question Id : 50521227125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521227126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Participation in the social life of the school is significant for learning to occur.
Reason (R): Learning is primarily a social activity.

Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false

Question Number : 22 Question Id : 50521227126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521227127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Teachers can make classroom activities meaningful by:
Options :

1. dividing them in disconnected chunks.

2. giving ambiguous instructions about them.

3. presenting them in decontextualized manner.

4. situating them in the authentic context.

Question Number : 23 Question Id : 50521227127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521227128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following pedagogical practices are does NOT contribute positively in teaching-

learning process?

Options :



1. Curriculum adaptation as per needs
2. Experiential learning for students
3. Innovation in curricular planning

4. Rigid exam-centered teaching strategies

Question Number : 24 Question Id : 50521227128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521227129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher should connect content to be taught with students’ daily life experiences.
Reason (R): Children come to school with valuable life experiances that teahers need to pay

attention to.

Choose the correct option.

Options :



1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false

Question Number : 25 Question Id : 50521227129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521227130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following helps learners evaluate their own learning and check their understanding?
Options :

1. Forgetting

2. Imitation

3. Metacognition



4. Rote-memorization

Question Number : 26 Question Id : 50521227130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521227131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Misconception among children are -
Options :

1. Abnormal

2. Atypical

3. Natural

4. Rare

Question Number : 27 Question Id : 50521227131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521227132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student experiencing ‘learned helplessness’ is likely to -
Options:

1. show enthusiasm in learning.

2. focus on mastery-oriented goals.

3. focus on performance-oriented approach goals.

4. withdraw from learning activities.

Question Number : 28 Question Id : 50521227132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 50521227133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of intrinsic motivation?
Options :

1. learning a new language out of interest

2. drawing a picture to win a cash prize

3. participating in a sport to win an award

4. studying to get praise of parents

Question Number : 29 Question Id : 50521227133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 50521227134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an environmental factor which impact learning?
Options :

1. Attitude

2. Motivation

3. Personality traits

4. School

Question Number : 30 Question Id : 50521227134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30
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Clear Response: ves
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Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 50521227135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A square has a bounding of 16 cm. From each of the four corners of this square, a small square of side 1 cm is cut off.
What will be the length of the houndary of the remaining figure?

Options :
1. 12cm

2. 14 cm
3. 16cm

4. 18 cm

Question Number : 31 Question Id : 50521227135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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1 1295
5 147,
3 16 9.

4 18T A

Question Number : 32 Question Id : 50521227136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What will come in the blank? 2 thirds + =11 twelfths

Options:
1. 9 thirds
2. 1 third

3. 3 twelfths

4. 13 twelfths

Question Number : 32 Question Id : 50521227136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 50521227137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On her hirthday Merlin's mother gave her a packet of toffees to share with her friends. Merlin gave %th of toffees to

Aditj, éth to Amal, %th to Farhan, and %th to Jery. If she is left with only 2 toffees, then how many toffees were there
in the packet i

Options :
1. 105

5 210
3. 315

4. 420

Question Number : 33 Question Id : 50521227137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 105

Question Number : 34 Question Id : 50521227138 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A shopkeeper has some eggs. He wants to put them in trays which can have exactly 12 eggs. He filled 9 trays with eggs
and left with 5 eggs. How many more number of eggs does he need so that no egg is left out after completing the 10th
tray?

Options :
1.9

Question Number : 34 Question Id : 50521227138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

% RN o T 370 318 €1 98 37 T 2. TG T 2 (o &1 12 378 3 21 36 9/ 91 9 ¢ 5 e i
TR S 75 7 T T o T o AT 2 Tl S 10 8 1 o % % 491 7 5

Options :



Question Number : 35 Question Id : 50521227139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Savita went to ATM to withdraw some money. She got five notes of X 2000, four notes of X 500 and nine notes of X
100. On counting she found that 1 note of X 2000 and 1 note of X 100 are less in the whole amount. How much

amount did she enter for withdrawal?
Options:
1. 14000

5> 14500
3. 15000

4. 16500

Question Number : 35 Question Id : 50521227139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :



14000

—

5 X14500

3. 215000

4. X16500

Question Number : 36 Question Id : 50521227140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Anu brought 2 kg 500 g Laddu, 3 kg 250 g Lalebi and 4 kg Rasgullas from a sweet shop. The shopkeeper packed
everything together in boxes with a maximum capacity of 750 g. How many boxes required to pack all the items?

Options:
1. 15

4, 12

Question Number : 36 Question Id : 50521227140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 13



Question Number : 37 Question Id : 50521227141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The four traffic lights of a cross road change after 30s, 45s, 1 minute and 75s respectively. If these lights changed
simultaneously at 1:35 pm, then they will change simultaneously again at.

Options:
1. 2:05 pm

2. 1:50 pm
3. 2:10 pm

4. 1:55 pm

Question Number : 37 Question Id : 50521227141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 2:05 pm



Question Number : 38 Question Id : 50521227142 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rae and Reena have arranged the bricks horizontally one above the other. If the length, width and height of each brick
are binches, 3 inches and 3 inches, respectively then how many rows of the bricks will be required to create a 3.5
meter wall?

Options :
1. 46

3. 42

Question Number : 38 Question Id : 50521227142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 46
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4. 04

Question Number : 39 Question Id : 50521227143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rama reads the following details on a packet before throwing it on 3rd July 2021.
Date of packing: 10th Jan 2021

Best before 180 days from the date of packing

Which of the following statement, is correct?

Options :

1. She should throw the packet as the date of expiry has been already crossed
2. She can still use the packet for almost one more week
3 She can wait for another six months as it will get expired after 180 days

4. The packet got expired on 10th June 2021 so she should throw it.

Question Number : 39 Question Id : 50521227143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 50521227144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Teacher gave some objects to children that include a matchbox, a ball, a book, a steel glass and a rope. She asked them
to identify the objects which have the most numbers of corners. Which of the following statements is correct for the
above situation?

Options :

1. Rope should be selected as it is the longest among all the given objects

2. Book should be selected as it has more number of corners than the matchbox

Matchbox and book should be related as both of them can be classified in the same category of objects having edge,
3. facesand corners

4. Ball should be selected as it has infinite corners

Question Number : 40 Question Id : 50521227144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 50521227145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A closed shape made up of three or more than three line segments is called
Options:

1. Triangle

> Quadrilateral

3. Polygon

4. Polyhedrons

Question Number : 41 Question Id : 50521227145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 42 Question Id : 50521227146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The temperature of a city is 23.5°C at 9 pm. If the temperature drops by 0.7°C every hour after that, then at what time
the temperature will be 17.2°C?

Options :
1. 2:00 am
2. 3:00 am

3. 5:00 am

4. 6:00 am

Question Number : 42 Question Id : 50521227146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 2:00 am

2. 3:00 am
3. 5:00 am

4. 6:00 am

Question Number : 43 Question Id : 50521227147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true for the mean and median of the scores
158131, 73 15,20 1

Options :
1. Mean is greater than the median
5 Median is greater than the mean

3. Both mean and median are equal

4. Median cannot be determined as there are even number of scores

Question Number : 43 Question Id : 50521227147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 50521227148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The angles of rotations (rotational symmetry) of an equilateral triangle are:
Options:

1. 90°, 1807, 270°, 360°

. 60°,120°, 180°

3. 1207, 240°, 360°

4. 60°,120°, 180°, 2407, 300°, 360°

Question Number : 44 Question Id : 50521227148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS FHATE PIHS 1 THTEET T 3 07 2

Options :

Question Number : 45 Question Id : 50521227149 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the next term of the given pattern
17A , 4YB, 9XC, 16WD

Options:
1. 81VE

> 25VE

3. 25EV

4. 81EV

Question Number : 45 Question Id : 50521227149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 81 VE

Question Number : 46 Question Id : 50521227150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a stage / level of Van Hiele theory of geometrical reasoning
Options :

1. Visualization
5> Concrete operation
3 Analysis

4. Axiomatic

Question Number : 46 Question Id : 50521227150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 50521227151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Continuous and comprehensive" evaluation in mathematics would include:

(a) Detailed feedback on the students conceptual understanding

(b) Only the collective progress of the class in terms of percentage of students failed or passed
(c) Progress of the students throughout the year

(d) Minimum levels of learning in mathematics

Choose the correct options

Options :
1. (b) and (d)

, (a), (b)and (d)
3. (a) and (c)

4. only (b)

Question Number : 47 Question Id : 50521227151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 50521227152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true about mapping in mathematics
Options:

1. Mapping forms the basis for many topics in higher mathematics

2. Mapping strengthens spatial thinking

3. Mapping promotes proportional thinking

4. Mapping only includes drawing of a map of one's surroundings



Question Number : 48 Question Id : 50521227152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 50521227153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a closed ended question?

Options :

1. List five 3- digit numbers that have digit 5 at the tens place
> Drawa shape where the sum of all sides is 36 cm

3. Write five whole numbers between 178 and 184

4. List two sets of five numbers that have a sum of 50

Question Number : 49 Question Id : 50521227153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 50521227154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a type and utility of numbers?

Options :

1. Cardinal Numbers
2. Ordinal Numbers
3. Aesthetic Numbers

4. Nominal Numbers

Question Number : 50 Question Id : 50521227154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 50521227155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching about measurement of length, a teacher askes the students to measure their table using hand spans
and paper clips instead of measuring directly by a scale. What is the most appropriate reason for during this activity ?

Options :

1 She wants to engage the children in hands-on activity because it is interesting for students
2 She wants her students to learn how to measure length correctly using paper clips
3 She wants her students to practise old ways of measurement using objects

4. She wants the students to understand the need for standard units for measurement

Question Number : 51 Question Id : 50521227155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 50521227156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A primary school mathematics teacher asked the students to take out 'Ruler' as she was going to teach the topic on
length measurement. Students got confused how can they take out a king or queen. Such words are called Homonyms.
How can teachers address this challenge in classroom?

Options:

1. By asking the English language teacher to teach the word meanings of such words in English class

Teacher should draw the attentions of students to the specific meaning being used in mathematical context whenever
2 such words appear in teaching

3 Teacher should prepare a list of such words with their meanings and ask students to memorise them
Teacher should ignore this as students eventually would learn many such words when they would practice more

4. questions,

Question Number : 52 Question Id : 50521227156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 50521227157 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A class Il teacher reads out the following problem to her students
"It | subtract "2 ones' from '2 tens' what will be the answer™

One of the students responded the answer is zero.

Which of the following statement is correct for the above context ?

Options :
1 The answer given by the student is correct
o Teacher should use concrete materials to strengthen the concept of place value in student

3. Teacher should give 10 similar problems to practice

Teacher should ignore the response of the student and should herself give the right answer and move to next problem
4, tosolve



Question Number : 53 Question Id : 50521227157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 50521227158 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While planning a lesson on the concept of addition of fractions a teacher is using the activity of rectangular strip
folding. The above activity is a-

Options :
1. Content activity

o Post Content activity



3 Pre content activity

4. Wastage of time

Question Number : 54 Question Id : 50521227158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 50521227159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is the most important characteristic of a good mathematics text book at primary level?
Options :

1. Concepts should be introduced through contexts
L should only contain numerous questions for practice

3. It should be attractive and colourful



4. Concepts should be introduced through formal algorithms.

Question Number : 55 Question Id : 50521227159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 50521227160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The National curriculum framework (2005) considers that mathematics involves 'a certain way of thinking and
reasoning’. The vision can be realized by

Options :
1 Giving special coaching to students

o Adopting exploratory approach, use of manipulatives connecting concepts to real life , involving students in discussions

3 Rewriting all the text book of mathematics



4 Emphasizing on solving problems given in text book

Question Number : 56 Question Id : 50521227160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 50521227161 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As a mathematics educator what advice will you give to prospective teachers to improve children's performance in
mathematics

Options :

1. Get children as many books as possible for practice work
2. Advice parents for tutoring children at home

3 Help children make connections between conceptual and procedural knowledge



4. Plan remedial classes for children at the end of the year

Question Number : 57 Question Id : 50521227161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 50521227162 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The statement Teacher acts as a Facilitator, helps students to discover relationships and seek pattern for themselves' is
most suited with

Options :
1. Role play

2. Inductive method

3. Analytical Method



4. Demonstration

Question Number : 58 Question Id : 50521227162 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 50521227163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A primary class teacher asks his students to collect data on number of boys and girls studying in class V in their
neighbourhood (including at least five households). Which of the following most appropriately describes the purpose
of this activity?

Options :
1. To make students aware of gender differences in their neighbourhood

5 To introduce the topic of data handling

3 To make children familiar with their community



4. 1O give holiday have work to students

Question Number : 59 Question Id : 50521227163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 50521227164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT one of the steps of problem solving given by Polya.
Options :

1. Understanding the problem

2. Devise a Plan

3. Recreate the plan



4. Carry out the plan

Question Number : 60 Question Id : 50521227164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 50521227165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Crocodiles are mainly killed by poachers
Options :

1. for horns

2. for skin

3. for teeth

4. for scent

Question Number : 61 Question Id : 50521227165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 62 Question Id : 50521227166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Bora is a common variety of 'glutinous’ rice. It is mainly found in
Options:

1.in Assam

2.in Bihar

3.in Odisha

4. in Tamil Nadu

Question Number : 62 Question Id : 50521227166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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4. E

Question Number : 63 Question Id : 50521227167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In winters, grandmothers often use a solution of the following to protect the kin form dryness
Options :

1. rose water and distilled water

2. Rose water, glycerine and lemon juice

3. Lemon juice and milk

4. rose water and vinegar



Question Number : 63 Question Id : 50521227167 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 64 Question Id : 50521227168 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A bird that makes a nest hanging from the branch of a small tree or shrub is
Options :

1. sun bird

2. crow

3. Barbet

4. Indian Robin

Question Number : 64 Question Id : 50521227168 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T% O § US I7 SEr &7 16T § oI I Orgel 7 3rer 9eir 2




Options :
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4. ST T

Question Number : 65 Question Id : 50521227169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
PNR on train ticket shows

Options :

1. Passenger number record

2. Passenger name record

3. Personal name record

4. Personal number record

Question Number : 65 Question Id : 50521227169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
& fewre 9T oA geer B
Options :
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Question Number : 66 Question Id : 50521227170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Malayalam mother's elder sister is called as
Options :

1. Valliamma

2. Ammumma

3. Themma

4. Didu

Question Number : 66 Question Id : 50521227170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HATATSTH H AT &7 J57 G Fr Fal AT gl

Options :

Question Number : 67 Question Id : 50521227171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which one of the following places is in Kerala?
Options:

1. Valsad

2. Kozhikode

3. Udupi

4. Malakheda

Question Number : 67 Question Id : 50521227171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
AR d s T AT T T ?
Options :

1. deTHIS

, TSRS

4, HATTEIET

Question Number : 68 Question Id : 50521227172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The village got its name from the many khejri trees growing there. The people of this village take

great care of the plants, trees and animals. In India this village is
Options :
1. in Uttaranchal

2. in Uttar Pradesh



3. in Rajasthan

4.in Maharashtra

Question Number : 68 Question Id : 50521227172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 69 Question Id : 50521227173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The head of a herd of elephants is
Options :

1. smallest female elephant

2. oldest female elephant

3. largest male elephant

4. smallest male elephant

Question Number : 69 Question Id : 50521227173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
gt % &3 1 FBa g g
Options :
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Question Number : 70 Question Id : 50521227174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Pottery is made strong

Options :

1. by baking

2. by smelting

3. by roasting

4. by burning

Question Number : 70 Question Id : 50521227174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e & saar F A 94T A €

Options :
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Question Number : 71 Question Id : 50521227175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The part of the plant that can be used for the treatment of toothache?
Options:

1. Fennel

2. Clove

3. Fenugreek

4. poppy seeds

Question Number : 71 Question Id : 50521227175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
gier @1 9g 97T FY a9 &6 & 399N & oI 39T A I Hear g 7

Options :



Question Number : 72 Question Id : 50521227176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of making 'Chapati' from wheat flour.

Options :

1. kneading flour into a dough, making small balls of the dough, rolling out the balls and then
cooking it on fire.

2. making small balls of the dough, kneading flour into a dough, rolling out the balls and then

cooking it on fire.

3. making small balls of the dough, rolling out the balls, kneading flour into a dough and cooking

it on fire.

4. kneading flour into a dough, rolling out the balls and making small balls of the dough and

cooking it on fire.

Question Number : 72 Question Id : 50521227176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ﬂéﬂ?mﬁ’ﬂmﬁr’ AT FT Hal FH TgAAT]
Options :
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Question Number : 73 Question Id : 50521227177 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In dance the main poses and expressions demonstrates
Options :

1. dance performance

2. feelings

3. confidence

4. hand and face movements

Question Number : 73 Question Id : 50521227177 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3cd H AET ¥ T AT 3R HEAT gefia Far 2l
Options :
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Question Number : 74 Question Id : 50521227178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children who cannot speak and hear, they learn?
Options :

1. through sign language

2. through native language



3. through their local language

4. through braille

Question Number : 74 Question Id : 50521227178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 75 Question Id : 50521227179 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is different from others?

River, mountain, lake, pond, spring
Options:

1. river

2. mountain

3. lake

4. Spring

Question Number : 75 Question Id : 50521227179 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 76 Question Id : 50521227180 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following indicates the child centred nature of Environmental Studies at primary

level?

A. children's life at school must be linked to their life outside the school

B. discourage rote learning

C. Departure from bookish learning

D. having sharp boundaries among school, home and the community for the learning
Options:

1. A and B only

2. A and Conly

3.A,Band C



4.B and D only

Question Number : 76 Question Id : 50521227180 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

foraofed & ¥ #i9 TUfEs TR W TR0 FTT 89 Hed Ticd #3060 Hl ¢ 7
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Options :
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Question Number : 77 Question Id : 50521227181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following can be the objective of Environmental Studies at primary level?
A. encouraging children to reflect on their own learning
B. engaging children by giving space, time and freedom to generate new knowledge.

C. treating children as participants in learning, not as receivers of a fixed body of knowledge.



D. treating the prescribed textbook as the sole basis of resources for learning.
Options :

1.A,Band C

2.A,CandD

3.B,Cand D

4. Cand D only

Question Number : 77 Question Id : 50521227181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T & ¥ i @ TS TR W TR M § e § T § 7
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Options :

, AB3R C
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4. CHR DeRad

Question Number : 78 Question Id : 50521227182 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is true in relation to Environmental Studies at primary level?

Options :
1. Environmental Studies (EVS) in Classes IIl to V as a subject integrates the concepts and issues of

science, social science and environment education.

2. This subject is there in classes I and II and issues and concerns related to it are give through

Language and Mathematics.
3. The language used in the EVS textbooks are formal.

4. It is based on a single subject approach

Question Number : 78 Question Id : 50521227182 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T TR R TR0 3ewde & Wy F e Re A ¥ s w FE T g ?
Options:
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Question Number : 79 Question Id : 50521227183 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following should be minimized in the EVS classroom?



Options :

1. Free debates
2. Picture reading
3. Narratives

4. Descriptions

Question Number : 79 Question Id : 50521227183 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 80 Question Id : 50521227184 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Real challenge for EVS learning at primary level is
Options :

1. Definitions and information

2. Rote learning

3. descriptions of concepts

4. Opportunities for children's to express themselves



Question Number : 80 Question Id : 50521227184 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Srafies TR W §hvw dea & v aeafes gHlda

Options :
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Question Number : 81 Question Id : 50521227185 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following themes consists of subthemes in the syllabus of EVS at primary level?
Options:

1. Family and friends

2. Water

3. Work and play

4. Food

Question Number : 81 Question Id : 50521227185 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
WATRF T N EE § M0 # AreRd A ¢ e dm 7 39 - dw anfder £ 2

Options :
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Question Number : 82 Question Id : 50521227186 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Authentic and meaningful learning of EVS can be given through
A. Narratives

B. Real dialogues

C. Process of experimentations

D. Assessment of answer given by students as right and wrong.
Options :

1.A,BandD

2.Cand D only

3.B,Cand D

4. A, BandC

Question Number : 82 Question Id : 50521227186 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521227187 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Issues of theme "travel" can only be meaningful for the students
Options:

1. if debates are conducted around the issues

2. if audio-Visuals are shown to students

3. if demonstrations are given by teachers

4. theme based worksheets are given to students

Question Number : 83 Question Id : 50521227187 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T i % g2 Faw et & o ads @ o g oy

Options :
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Question Number : 84 Question Id : 50521227188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Besides EVS textbooks. Which one of the following may be a good resource for EVS learning?
Options :

1. Field visits

2. Radio

3. Wikipedia

4. Encyclopaedia

Question Number : 84 Question Id : 50521227188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
SHTH TR & o, S dw v e # ¥ 7 - 7 & R g § w
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Options :
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Question Number : 85 Question Id : 50521227189 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Socio-cultural issues related to Water Theme can be effectively learnt through
A. Role-play

B. Real dialogue among students

C. Field trip

D. Demonstration and home work
Options:

1.A,Band C

2.Cand D

3.Donly

4. Conly

Question Number : 85 Question Id : 50521227189 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 86 Question Id : 50521227190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

EVS textbook contain real stores, narratives and real events for the learning of EVS because
A. they are rich source of information and leaning.

B. they inspire students, teachers and the community.

C. they can provide us an opportunity to revisit experiences we are familiar with.

D. they make the pedagogy of EVS easy for the teachers
Options:

1. D only

2.Bonly

3.Conly

4.A,Band C

Question Number : 86 Question Id : 50521227190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 87 Question Id : 50521227191 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For consolidating the learning of EVS, focus of assessment should be on
Options:

1. for learning

2. of learning

3. as learning

4. informal learning

Question Number : 87 Question Id : 50521227191 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 88 Question Id : 50521227192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Raja, an EVS teacher uses as assessment tool that clearly indicates achievement criteria across all

the components of students’ work from written to oral to visual. Teacher is using
Options :

1. Rubrics

2. Check list

3. Anecdotal record

4. Observation sheet

Question Number : 88 Question Id : 50521227192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 50521227193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Self-assessment in EVS is

A. assessment as learning
B. learning about learning
C. judgements about achievements and the outcome of learning.

D. assessment of learning.
Options :

1.A,Band C

2.Conly

3.Aand Conly

4. A, CandD

Question Number : 89 Question Id : 50521227193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 50521227194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Learning of EVS is based on the principle of
Options:

1. simple to complex.

2. complex to simple.

3. global to local.

4. abstract to concrete.

Question Number : 90 Question Id : 50521227194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Id : 50521227195 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions that
follow by choosing the correct/most appropriate options:

The Ganga is the lifeblood of hundreds of millions of people in India
and Bangladesh. Every day, they depend on its water for drinking,
cooking and washing. Farmers rely on the river for water for their
crops. Hindus worship the Ganges as a Goddess named Ganga. Yet
this river is threatened by pollution and by the increasing water
demands of industries, cities and a growing population.

The Ganga begins in the Himalayas, the highest mountain
range in the world. The river flows southeast across the plains of
Northern India. It enters Bangladesh and is joined by the
Brahmaputra river and the Meghna river. There the river's name
changes to the Padma river. It forms a delta 220 miles (350 km)
wide, which is shared by India and Bangladesh. Finally, the river
empties into the Bay of Bengal.

In comparison with many other major world rivers, the
Ganga is short, with a length of about 1,560 miles (2,150 km) for
most of its course, the river is wide and its waters are slow-moving.

The main sources of the Ganga are Bhagirathi and the
Alaknanda. The water in these rivers comes from glaciers high in the
Himalayas. Melting glacial ice sustains the Ganga and its tributaries.

Monsoon plays a major role in the life of the Ganga river
and in the lives of the people who live along its banks. The monsoon
can cause terrible floods in the Ganga delta region. From its
mountain source to its wide delta, the Ganga flows through a variety
of ecosystems.

Sub questions

Question Number : 91 Question Id : 50521227196 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is not true in the light of
the passage above?

The Ganga runs wide for most of its course.

It supports diverse eco-systems.

Glaciers melt directly into the Ganga.

The Ganga water depends much on the monsoon
rains.

ol e

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 50521227197 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is similar in meaning to the
word, ‘rely’ as used in the passage? (para 1)
1. expect
2. depend
3. submit
4. promote
Options:
1.1
2.2
3.3

4.4

Question Number : 93 Question Id : 50521227198 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the speech is the underlined word in the
sentence given below?

“It then enters Bangladesh and is joined by the
Brahmaputra and the Meghna river”

Adjective
Conjunction
Adverb

4. Preposition

e

Options :
1.1
2.2
3.3



4.4

Question Number : 94 Question Id : 50521227199 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The greatest human challenge to the Ganga is:

growing population, industries and pollution.
erratic monsoon.

uncontrolled tributaries.

agricultural dependence.

L B e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521227200 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Ganga river is described as the “lifeblood” of people
because:

1. people depend on the river for sustainance and
survival.
2. itis a holy river.

3. itsprings from the Himalayas.
4. itis one of the oldest rivers of the country.
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521227201 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Ganga can be called a ‘Shared river’ because:

1. it connects countries and weaves different
civilizations together.

2. it flows into the ocean and mingles with other
waters.

3. it is more beneficial to Bangladesh than India.

4. it emerges out of the mountain ranges of the great

Himalayas.
Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521227202 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The name of the Ganges changes to Padma river when it-

1. enters the Bay of Bengal.

2. enters Bangladesh and is joined by the Brahmaputra
River and the Meghna river.

3. flows through the plains of Northern India.

4. finally merges into the unknown seas.

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521227203 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is opposite in meaning to the
word ‘major’ as used in the passage? (para 5)

unimportant
insignificant
minor

4, medicine

Ll

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521227204 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?

The car i5in

(a) (b)

remarkably good condition of its age

(c) (d)

(b)

(c)
(d)

(a)
Options :

il

1.1
2.2
3.3
4.4

Question Id : 50521227195 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (91 to 99)



Question Label : Comprehension

Read the passage given below and answer the questions that
follow by choosing the correct/most appropriate options:

The Ganga is the lifeblood of hundreds of millions of people in India
and Bangladesh. Every day, they depend on its water for drinking,
cooking and washing. Farmers rely on the river for water for their
crops. Hindus worship the Ganges as a Goddess named Ganga. Yet
this river is threatened by pollution and by the increasing water
demands of industries, cities and a growing population.

The Ganga begins in the Himalayas, the highest mountain
range in the world. The river flows southeast across the plains of
Northern India. It enters Bangladesh and is joined by the
Brahmaputra river and the Meghna river. There the river's name
changes to the Padma river. It forms a delta 220 miles (350 km)
wide, which is shared by India and Bangladesh. Finally, the river
empties into the Bay of Bengal.

In comparison with many other major world rivers, the
Ganga is short, with a length of about 1,560 miles (2,150 km) for
most of its course, the river is wide and its waters are slow-moving.

The main sources of the Ganga are Bhagirathi and the
Alaknanda. The water in these rivers comes from glaciers high in the
Himalayas. Melting glacial ice sustains the Ganga and its tributaries.

Monsoon plays a major role in the life of the Ganga river
and in the lives of the people who live along its banks. The monsoon
can cause terrible floods in the Ganga delta region. From its
mountain source to its wide delta, the Ganga flows through a variety
of ecosystems.

Sub questions

Question Number : 91 Question Id : 50521227196 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is not true in the light of
the passage above?

The Ganga runs wide for most of its course.

It supports diverse eco-systems.

Glaciers melt directly into the Ganga.

The Ganga water depends much on the monsoon
rains.

Ll

Options :



1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521227197 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following words is similar in meaning to the
word, ‘rely’ as used in the passage? (para 1)
1. expect
2. depend
3. submit
4. promote
Options:
1.1
2.2
3.3

4.4

Question Number : 93 Question Id : 50521227198 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the speech is the underlined word in the
sentence given below?

“It then enters Bangladesh and is joined by the
Brahmaputra and the Meghna river”

Adjective
Conjunction
Adverb

4. Preposition

AR

Options :
1.1
2.2



3.3
4.4

Question Number : 94 Question Id : 50521227199 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The greatest human challenge to the Ganga is:

growing population, industries and pollution.
erratic monsoon.

uncontrolled tributaries.

4. agricultural dependence.

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521227200 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Ganga river is described as the “lifeblood” of people
because:

1. people depend on the river for sustainance and
survival.
2. itis a holy river.

3. it springs from the Himalayas.
4. itis one of the oldest rivers of the country.
Options :
1.1
2.2
3.3

4.4



Question Number : 96 Question Id : 50521227201 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Ganga can be called a ‘Shared river’ because:

1. it connects countries and weaves different
civilizations together.

2. it flows into the ocean and mingles with other
waters.

3. itis more beneficial to Bangladesh than India.

4. it emerges out of the mountain ranges of the great

Himalayas.
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521227202 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The name of the Ganges changes to Padma river when it-

1. enters the Bay of Bengal.

2. enters Bangladesh and is joined by the Brahmaputra
River and the Meghna river.

3. flows through the plains of Northern India.

4. finally merges into the unknown seas.

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521227203 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the
word ‘major’ as used in the passage? (para 5)

unimportant
insignificant
minor

4, medicine

il ol

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521227204 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?

The car i5in

(a) (b)

remarkably good condition of its age

(c) (d)

1. (b)
2. €}
3 [ d]
4. (a)

Options:
1.1
2.2
3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121567

Question Shuffling Allowed : Yes



Question Id : 50521227205 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Directions: Read the poem given below and answer the questions that
follow by choosing the best/appropriate options:

The crucified planet Earth
Should it find a voice

and a sense of irony,
might now well say

of our abuse of it,

“Forgive them Father,

They know not what they do”
The irony would be that we know what
we are doing.

When the last living thing

has died on account of us,
how poetical it would be

If Earth could say,

in a voice floating up

perhaps

from the floor

of the Grand Canyon

“It is done”

People did not like it here.

Sub questions

Question Number : 100 Question Id : 50521227206 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who is the speaker of the line, “Forgive them, Father, they
know not what they do" in the above poem?

The Earth
People

The heavens
4. The planets

Ll

Options :



1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521227207 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify and name the figure of speech used in ‘Crucified
Earth'?

Personification
Conceit
Allegory
4. Paradox

el B B

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521227208 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A sense of destructive fear pervades the poem. What
prompts the poet to signal this note on apocalypse?

People did not like being on Earth.

Earth itself no longer welcomes humans.

God did not grant them forgiveness.

4. Man has recklessly ruined and exploited nature.

ol v

Options :
1.1
2.2

3.3

: MCQ Option Shuffling : No

: MCQ Option Shuffling : No



4.4

Question Number : 103 Question Id : 50521227209 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not true according in the extract?

1. We do not know what we are doing.
2. We are destroying what sustains us.
3. We are waiting for a saviour.
4. We are too naive to understand the implications of
our actions.
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521227210 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“People did not like it here” is an example of-

hyperbole
sarcasm
paradox
metonymy

o L B b

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521227211 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to the poet, if the Earth is given a chance for any
utterance, what would it say to God?

1. Stop the extinction of mankind.

2. Forgive the wrongful deeds of men.

3. Fix responsibility for the mindless destruction of the
Earth.

4. Give people the strength to resist temptation.

Options :
1.1
2.2
3.3
4.4

Question Id : 50521227205 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the poem given below and answer the questions that
follow by choosing the best/appropriate options:

The crucified planet Earth
Should it find a voice

and a sense of irony,
might now well say

of our abuse of it,

“Forgive them Father,

They know not what they do”
The irony would be that we know what
we are doing.

When the last living thing

has died on account of us,
how poetical it would be

If Earth could say,

in a voice floating up

perhaps

from the floor

of the Grand Canyon

“It is done”

People did not like it here.

Sub questions

Question Number : 100 Question Id : 50521227206 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who is the speaker of the line, “Forgive them, Father, they
know not what they do” in the above poem?

The Earth
People

The heavens
4. The planets

il ol

Options :
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 50521227207 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify and name the figure of speech used in ‘Crucified
Earth'?

Personification
Conceit
Allegory
4. Paradox

el B £

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521227208 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A sense of destructive fear pervades the poem. What
prompts the poet to signal this note on apocalypse?

People did not like being on Earth.

Earth itself no longer welcomes humans.

God did not grant them forgiveness.

4. Man has recklessly ruined and exploited nature.

ol v B

Options:
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521227209 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is not true according in the extract?

1. We do not know what we are doing.
2. We are destroying what sustains us.
3. We are waiting for a saviour.
4. We are too naive to understand the implications of
our actions.
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521227210 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“People did not like it here” is an example of-

hyperbole
sarcasm
paradox
metonymy

P L B P

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521227211 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to the poet, if the Earth is given a chance for any
utterance, what would it say to God?

1. Stop the extinction of mankind.

2. Forgive the wrongful deeds of men.

3. Fix responsibility for the mindless destruction of the
Earth.

4. Give people the strength to resist temptation.

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121568

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521227212 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which one of the following is the highest level of writing skill?

Correct spelling
Digraph writing
Articles writing
Using difficult words in Sentences

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 50521227212 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following is the highest level of writing skill?

Correct spelling
Digraph writing
Articles writing
Using difficult words in Sentences

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521227213 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Being a language teacher, you would like to adopt which form of the content?

1. Concrete descriptive and analytical
2. Abstract descriptive and analytical
3. Concrete descriptive and Conceptual
4, Abstract Conceptual and Conceptual

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521227213 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Being a language teacher, you would like to adopt which form of the content?

Concrete descriptive and analytical
Abstract descriptive and analytical
Concrete descriptive and Conceptual
Abstract Conceptual and Conceptual

I e



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521227214 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the Piaget, the process of language acquisition is-

associative
matching
strategic

4. social

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521227214 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the Piaget, the process of language acquisition is-

associative
matching
strategic

4. social

Gl b e

Options :
1.1
2.2
3.3



4.4

Question Number : 109 Question Id : 50521227215 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student whose home language and School language are different, how can you, as a teacher, help as a resource?

1. By giving him extra attention in class.

2. Using multilingualism as resource in the classroom.
3. By giving him flexibility in homework related work.
4. By teaching in the class in his mother tongue.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521227215 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student whose home language and School language are different, how can you, as a teacher, help as a resource?

1. By giving him extra attention in class.

2. Using multilingualism as resource in the classroom.
3. By giving him flexibility in homework related work.
4. By teaching in the class in his mother tongue.

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521227216 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Consider the Statement (A) and (B) regarding Translanguaging.
(A) Translanguaging is a flexible form of multilingualism.
(B) Translanguaging is switching between the languages one known in order to maximise communicative potential.

(A) is true, (B) is false.
(A) is false, (B) is true.
oth (A) and (B) are true.

1.
3
B
4, Both (A) and (B) are false.

B
B
Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 50521227216 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the Statement (A) and (B) regarding Translanguaging.
(A) Translanguaging is a flexible form of multilingualism.
(B) Translanguaging is switching between the languages one known in order to maximise communicative potential.

(A) is true, (B) is false.
(A) is false, (B) is true.
Both (A) and (B) are true.
Both (A) and (B) are false.

1
2.
3
4,
Options :
1.1
2.2
3.3

4.4

Question Number : 111 Question Id : 50521227217 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What is used as a tool for learning language in whole language approach?

Actions
Literature
Nursery rhymes
Toys

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521227217 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is used as a tool for learning language in whole language approach?

Actions
Literature
Nursery rhymes
Toys

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521227218 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The central role in total physical response is of-

teacher
parents
family

student

el o



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521227218 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The central role in total physical response is of-

teacher
parents
family

4. student

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521227219 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is meant by ‘reading skills’ on the basis of National Curriculum Framework (NCF) 2005?

1. Correct Pronunciation

2. Reading Syllables

3. Reading with understanding
4. Reading difficult sentences

Options :
1.1
2.2
3.3



4.4

Question Number : 113 Question Id : 50521227219 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by ‘reading skills’ on the basis of National Curriculum Framework (NCF) 2005?

1. Correct Pronunciation

2. Reading Syllables

3. Reading with understanding
4. Reading difficult sentences

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521227220 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the educational aspect of a language textbook?

Spelling of Book

Place of picture in Book

Selection of Content

Beautiful content with picture typography

o L B b

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521227220 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What is the educational aspect of a language textbook?

Spelling of Book

Place of picture in Book

Selection of Content

Beautiful content with picture typography

o L B b

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521227221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the activities assigned to the students. Which of the following activities should you try out to develop
communicative skills?

()  He........(Is/are) on actor.

(i) Onthe weekend, I'm going to........in the momning and will return by S5pm in evening.

(i) Ask your friend where he/she likes to visit on weekend and why.

(iv)  Askyour classmate two points which she/he considers while group discussion.

L. (i), i), i)
2. (i) (i)
3. (i), i
4. (iii), (iv)
Options:
1.1
2.2
3.3

4.4

Question Number : 115 Question Id : 50521227221 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Consider the activities assigned to the students. Which of the following activities should you try out to develop
communicative skills?

()  He......(Isfare) on actor.

(i) Onthe weekend, I'm going to........in the morning and will return by S5pm in evening.

(i) Ask your friend where he/she likes to visit on weekend and why.

(iv)  Askyour classmate two points which she/he considers while group discussion.

1. (i), (i), (iii)
2. (i) (i)
3. (i), i
4. (i), {iv)

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521227222 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Krashen, Is @ subconscious process.

learning
acquisition
listening

4. communication

L B e

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521227222 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to Krashen, is a subconscious process.

learning
acquisition
listening

4. communication

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521227223 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Vygotsky, children who make extensive use of learn complex tasks more effectively than the
other children.

1. inner speech

2. individual speech
3. private speech
4. silent speech

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521227223 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to Viygotsky, children who make extensive use of learn complex tasks more effectively than the
other children.

1. inner speech

2. individual speech
3. private speech
4, silent speech

Options:
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521227224 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, a language develops from to speech.

1. private to individualized
2. private to socialized

3. egocentric to socialized
4. socialized to egocentric

Options:
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521227224 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to Jean Piaget, a language develops from to speech.

private to individualized
private to socialized

egocentric to socialized
socialized to egocentric

LD R b

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521227225 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

During classroom discussion, a class VI student is presenting his/her own perspective over ‘causes of corruption’
Neither he/she is convinced with other’s ideas nor is he/she trying to look from other’s perspective. Hence, according
to Piaget, in which type of speech is he/she involved in?

1. ego-centric speech
2. social speech
3. individual speech
4. private speech

Options:
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521227225 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



During classroom discussion, a class VI student is presenting his/her own perspective over ‘causes of corruption’
Neither he/she is convinced with other’s ideas nor is he/she trying to look from other’s perspective. Hence, according
to Piaget, in which type of speech is he/she involved in?

1. ego-centric speech
2. social speech
3. individual speech
4. private speech

Options:
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521227226 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to make the students understand the grammatical structures, a language teacher should;

1. provide rich written material and let the students discover different structures.
2. provide extensive grammatical exercises to the students.

3. ask students to memorise structures from the book.

4. give an assignment to the students over different structures.

Options:
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521227226 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In order to make the students understand the grammatical structures, a language teacher should;

1. provide rich written material and let the students discover different structures.
2. provide extensive grammatical exercises to the students.

3. ask students to memorise structures from the book.

4. give an assignment to the students over different structures.

Options :
1.1
2.2
3.3
4.4

Language II
SectionId: 505212863
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121569
Question Shuffling Allowed : Yes

Question Id : 50521227227 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 50521227228 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T G T AR -
. SaTEET Y gHH

I3

3. ﬁitﬂb‘i’ﬁﬁiﬁﬂfﬂ
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521227229 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

xR o

A = AT o T T W T T4 foa
1. 3¢ 31 97T 3 ST A 3FA

3. & G0 W H =oel S

4. i 97 W HIS FT A T8 16T

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 50521227230 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT F AT T FT HRA 7 -
| Treft 5T W fEeT
3. 99 EEAT
4, a9 FZ F o]

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521227231 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
|. 1T =!GSR 91 & o0
2. "9 uhﬁl-aiéﬂt F7H F o0
3. ©U % X 31 &8 & % foqn
4. HT9 % e AR F [0

Options:
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521227232 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1. T
2. gt
3. 9gH
4. =om

Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 50521227233 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

E‘!?_J:ﬁ tgwcé-‘i =4 T FT FT FE0 am?
|. FaA T

FaeT 41

3. =T AR H T

4. A ARTE

[

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521227234 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T SR B! I F TR 9168 § 19 2 -
1. WErad
2. EraE
3. TEAd =19
4, FeaTEE
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521227235 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TSR & ST 3168 T8 2 -

. SR

w3

2. HraT
3. dde
4. ST=hd

Options:

1.1

2.2

3.3

4.4

Question Id : 50521227227 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



TaeT — = fow =1 TS T UGeR @ IO W4 3 7T e ST
Taremeg =1 == Fifso -

TS SATEH = U ¥ UF T Y §U e, T A 8! A
TS i T o T ST A o[t fiee gore o %k 9 31
a7t oft 3t & e qaT |

| 3 $IUTY TGS UF TS 7 feamarerts i dfieft & & g
U SRET, 3T 3 AT BT T &2 I AT AT 3 THS WA 2 21
TR ol G UT SIS SATAT ST o e, 3L HIE, e 170, 7L o7, 31
IS FAETE 7 8, U TEL o TH $H T Al ST HEAT =] S
S % T T ATE o T Yo BiT § S aE T8l T T TSR H
TR TS o= 91 7T | TS SATEH! HATA-Sd 3| i3 41 e
& foF 39 =% T e B 1S S9 @SS @1 o, A I A
S T T IR

TSI 1 THMI & TS T TaT o1 SHeHT d58 o o S
TIEHT T K § IEh! 78, ST TIAT-UTe & TTEHT IEK % U 5
ST W ST A ISR F IRAT Hate Fat 9T @It
TeTaT SRR H UEaTaR T TgaT Tad Tis 3 UTH o3 ST, HHT Al
&3 S

T UTHI YT e AL Sl H § Ueh @Sl I T 91 et 5
1 TEE H AT i 50, U WU 0 TASH T U IS T Hig A
TEH T for

T ol AT AT ST | BT AT 3 AT T3 | S-S
FT| AT T I

Sub questions

Question Number : 121 Question Id : 50521227228 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T G T AR -
. SaTEET Y gHH

I3

3. ﬁitﬂb‘i’ﬁﬁiﬁﬂfﬂ
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521227229 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

xR o

A = AT o T T W T T4 foa
1. 3¢ 31 97T 3 ST A 3FA

3. & G0 W H =oel S

4. i 97 W HIS FT A T8 16T

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 50521227230 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT F AT T FT HRA 7 -
| Treft 5T W fEeT
3. 99 EEAT
4, a9 FZ F o]

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521227231 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
|. 1T =!GSR 91 & o0
2. "9 uhﬁl-aiéﬂt F7H F o0
3. ©U % X 31 &8 & % foqn
4. HT9 % e AR F [0

Options:
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521227232 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1. T
2. gt
3. 9gH
4. =om

Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 50521227233 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

E‘!?_J:ﬁ tgwcé-‘i =4 T FT FT FE0 am?
|. FaA T

FaeT 41

3. =T AR H T

4. A ARTE

[

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521227234 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T SR B! I F TR 9168 § 19 2 -
1. WErad
2. EraE
3. TEAd =19
4, FeaTEE
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521227235 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TSR & ST 3168 T8 2 -

. SR

w3

2. W
3. U=
4. Shd
Options:
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 5052121570

Question Shuffling Allowed : Yes

Question Id : 50521227236 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension

TAgeT — T 770 T St UeER @ O Nt & o See SugT
Taremew w1 =3 Fifsm

TS & STIE, T ST o6 Fa! A AR o6 T gl |
QAT IF o1 el ST & Sl 9 S $ohgT i o Fel awh
STTER W 3 UF § T §1e hi 35 Tt a1 hied 8 9 91 9
B & oIt 72 ot At ST ) 79 © T 7 utEt ST T dt
St | 36 S UH ST i AT ST 8 fore TS g% Bt 2
FTAT AT =TS, & S BT ATl =T § $70 SIeTeht @Ur=edl dar
T ST B WUr==a1 i TS Uee § B 97 L AT S 8| T,
ATE ST =15 S o o70, G 19 ol B0 TS o 1l ST & o 1o
0 S % o0 B Tehat & T o1 a1 i 91 =R et Tt eree
WUl e S| I FHET & FTET ST IE ikl hi TR W
w2l

HTHAR T @Ui==al st SIS U 31 © SaeT 92 2l 8] e
QU= (ot STH Sh! T&1 Brdl| 3¢ =T T Uaell @ur==a1 o+ 1%
STt Bl Uit @Ur==al o= e il 8| @Ureaal = T SEdTer a0
T 2| BT T AR R & ToT @UT==4T s HIZTE SeT a1
TGAT STE | 9 G T U H I T T 2

T T W Uae @UT==E i Tl ST Sgd S 8] @t
ETAT ST ATAT B WU==1 910 21 5 Bt § AT g1 &0 21y |

Sub questions

Question Number : 129 Question Id : 50521227237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T ®Y H A € -
|. =8 H &= et ==
2. HH T 9= 972 | F1eH H
. U= S TS T
. @U=T FEA § w5 AT Gl A

N S



Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521227238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FrAT T -
|. e TR T A
2. U TR F=E
3. TR TR F S
4. U TFE H @U=A]

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 50521227239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
“UAeAT GUT==ET A= AT BT 2 J TAe F e 2 -
|. HEAT AT T
TIOT ST ferror
T ST e

fad [

e

Options :
1.1
2.2



3.3
4.4

Question Number : 132 Question Id : 50521227240 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS § U= S (a1 99 | T R e -
1. grafr

. HYcq

3. #EA

4. IEATEr

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 50521227241 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

U= S AT SR A FwE S A
1 ffza 21

. AT T FHeAT T

AT SR Fied &

3. TFATER A @Al F

4. AL SR WAL 7

Options:

—t

b2

1.1
2.2
3.3
4.4



Question Number : 134 Question Id : 50521227242 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
=S T GFFSET TR € -

. 59

a

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521227243 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

- T R [ N ™5 [
ST =hl |THTA &1 =h [0 GUT==4T =hT THAT TShdT
HEATE -

2
|. |

[

3
4.
Options :
1.1
2.2
3.3
4.4

Question Id : 50521227236 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No



Question Numbers : (129 to 135)

Question Label : Comprehension

THEeT — U 770 TR T UGHR IR U 941 % foI0 e UG
Tarreg w1 == Fifsm

TS T FZER, TR ST 6 FaH! AT AT 6 U9 Sga &R
QAT I A7 Tl ATHIE & Sl & §19 ThET F 1 Fel a7
TR X S U & i W T IF AT S e ol I S Hie
e & o7t 2 oft A S B ST § v o uftEt ererm
ST 2| 39 S1E UH S i AT ST & o TS 3-8 B 2l
AT AT =1, T8 SIH FIA AT =T | 36 B (7o @Ur=edi aak
1 ST B WU s TS U ¥ B 99 AT A1 8| 7,
TE ST =T & o ToT0 §16 3l B0 T3 § 1T AT & AT
T S % o702 Hekar 2 foF 2t ar i o = e mt aret et
QUr==ra1 ST S| JHT FHET & 1T ST IE SRl shi s I
it waT Rl

ATTAR O WU==41 1 SIS UF 3 § SA1eT 721 2t 2] =t
QU= ot T ! Tl erdi| 38 =T 2 Uael! @ur==a1 a2
ST B Yee ! @Ur==raT oT=ieit BT 2| WYr==raT =% SEaTeT &0
FT B 2TYT T FEATRRT F o1 Gui==ar i HI2TE Se §=10
TGT HATE TEH| 39 T T U 5 ] T 7 2

T S § UTe! @UTsadl il eIohT ST S5 Sl &l TaT 9T
FTAT 1T ATAT B Y=< 910 21 H BT & AT 377 270 21y 1

Sub questions

Question Number : 129 Question Id : 50521227237 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR YT T O Z -
|. o9 &= JTeAt ==
. &9 I T TE W Fe
3. GUr==ET 3T TS %
4. @Y= TS 9 B JTeA @Al T

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521227238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T B -

|. U YRR A

3. % TSR % AT

4. S TR T G
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 50521227239 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT U= S B AT R F Uae ¥ e -

| ST ST faeor
2. TOT ST TR
3. aftoTs e famo
4. AT TS
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521227240 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T F @U==4] o1 (=erT 51 5 T2 f3raT ST 2 -
1. greq

. A

3. #AEA

4. IEarat

Options :

-3

1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 50521227241 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



GUl==al = AT SAe T 2 qET
CICARITG RS
|. TeReTeR 3T el 0
AT ST HigH =
3. dFAT SR @At
4. AT T I

Options :

b2

1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521227242 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
=S T GFFSET TR € -

. 59

a

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521227243 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



I FTAEH TR AT Gu=T T =T R
AATE -
1. T
3. =rEr
4. TET

w3

I-J

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121571

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 50521227244 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Terelt ST ST ST famTaarett 3 Hey 8§ 39 () X (F) Wl=n &

(37) =T i TaT R IE TE A AW Fe 7, ok T2 2 R A FY FE B
(&) TSR T ST B AT I7 91907 F fari=an)

. (3 T, (@) T 2

. () e, (3) TR B

. (3T) IR (@) T B

. (37) R (F) TR T

—

[

S

Options:
1.1
2.2
3.3
4.4



Question Number : 136 Question Id : 50521227244 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Teredt TaT it STHTTYeR faTaaret & wa ¥ FU () AN (F) W = &)

(3T) £aT T TaerdT % 9 T8 € I 0 Fed °, Sieen 98 2 {6 70 3 FEd 7
{E)Wﬁ?ﬁﬁﬂﬁ%%mmmhmmﬂ‘%&ﬂﬁﬂ

. (30 HE, (@) T B

. (37) T, () FET R

(1) & () I & B

. (37) R (F) TR T

—

[

N S

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521227245 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

orelT T =) 3T U & WEl 6 e ¥ Wa U ST 31 S ATl S 4 FEeAra 27
1. 9| ¥

. Tafra s

3. g T

4, ot s

Options:

[

1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521227245 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

el o =) T U & Wetl 6 e © e U ST 31 S ATl S 4 FEeArey 20
|. T9H T

. fadta

3. &g

4, Toresft wmn

Options:

| ]

1.1
2.2
3.3

4.4

Question Number : 138 Question Id : 50521227246 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T Tt e 3 el e 5 € e el 6T A 6 £, A S T 6 6 o e SR
GHEIE= K

| S e e i 1 A
) fea a1 s s o vt o e g

3 ffbi A i T AT TR A R

1 P o e e e e

Options:
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521227246 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

T T oo o5 Tl veen 5 2w e et 1 T S 2, 71 S99 IeeTa 7 96 9 W6 A
GHEIE=I KGN

| Tt & S0700 5 2 STt 7 T AT AT e TRt e o
). Terana it cafores & i e W A 7 0 7t ot o Fot

3, g 1 o 9 2 1 19 5 U 1 et 0 & o0

4, %ﬂﬁﬁﬁﬂﬁf#mﬁ&'%ﬂﬁ\aﬁwiﬁﬂ?wmw3|°¢1quw3ﬁ«$qf&?\:’|

Options:
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521227247 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A e Blﬁjjlr&%m"ﬁlddcs W] T AT T 1 e 8 31T 1 71 2| T, Ferm, (o 30 et
frgiradahm

|, Wi v

). T =

3. ¥

4, I A=

Options :

1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521227247 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
I 2 u%%mw{g TS 2T STV T %1 928 ¥ S 1 e 2| TF T3 (350 50 ianes
GEGEEE L
|, W
3, T T
4, SN o

Options :

-]

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521227248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T 1 71 % TR 0 £ 71 TR 1 91 1 T 1 9 0 8 T8 e 3 77 1 9 o
7% 5 W0 5 7 £
| AT T
), el e
3, AT Y g
4. ST ST

Options:
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521227248 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T % 171 A 8 91 T T 4 T e 0 T e A e 1 9
T 35 TS0 B e 27

K iR

2, fift v

3, TR T

4, SR W

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 50521227249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FIF () AR (F) W =7 =
(3F) e feia o & St 5 2
(=) TS STS0T AT ST ST EHTIOT I BT ST i § HEq e 2
1. (7)) T2, () AT 2
2. () TEF B, (F) TE B
3. (37) ¥R (9) 31w B
4, (1) ¥R (F) I TG B
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 50521227249 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FIF (37) R (T) W =R =
(3) T e Sifsa & ST 5%
() TS STSUT 2hT T ST HHTIOT 1 31 ST A § HEE T 2
1. (7)) TEE, (F) 7T 2

2. () TEAE, (F) WET B

3. (37) R () ST wRT B

4. (37) AR (F) T T B
Options:

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 50521227250 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FTEIERAT 3F STET, T2 5 WIS o7 e e B £
£ ﬁﬁﬁﬁ%ﬂﬁwmﬁd 1T 2|

. ST A Wi SEqA! % 1Y A= Fd o

3. S =T H AEE T FA A

4. I U

[

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 50521227250 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



I 3 ST, S==1 3 979 5 (et o 21T 27
l. m%aﬁ%wQ|ﬂﬁ?d 7 2|
EEECH ﬁﬁﬁﬁaﬁﬁ%mﬂwmd‘m F 2

[

3. S =T H AEE T FA A
4. I I

Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 50521227251 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T | -1 Y T =R F Z TR W S5 % g7 W A6 T A
1. WTST 3T & T

=R IR AR E

3. TS SUF
4, aﬁ%mﬂﬁg@{rﬁw

[

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 50521227251 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T 5 W W1 U A S F G T TS S5 6 R O A T g
. THT &1 T ST

TERT=T0T ST

3. TS U

4. = o AT Sl T W

p—

I

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521227252 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ [ i (i 5
CloIGEERE AR EICR: T

FeH A F1=H B
27) aeT ufEre 37) ST T
) FA JTde TTaTeFa] ) a4
) T AT ST 13707 ) T
) WIS AR g ) AT =TEAT

. 319, §-8, 9-9, -4
¥4, 9.9, 9.9, 53
3. 3.3, 9.9, 9.9, 5-
4. HW, 9-H, 99,33

b2

Options :
1.1
2.2
3.3
4.4



Question Number : 144 Question Id : 50521227252 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

™ [ N (il i
M TAgd T THATT -

FAT A F9 B
27) e ufere 37) ST T
o) FA JT{eh T TR ) Y
) TT AT WIS TSraror ) 5
T) WIHT 271 qASh Z) 79 =TT

. 319, §-8, 9-9, -3
¥4, 9.9, 9.9, 53
3. 313, 9.9, 9.9, -
4. AW, §-7, 99,53

-2

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 50521227253 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

St & & g e e = A
 EmwwETEa R

. N e A T 2

3. TOT 377 fo=I 31 0= SR 7|

4, ST ST HTH0T A1 S ST TR 5 AT U 1Y WA 2 0 |

[a—y

-2

L

Options :
1.1
2.2
3.3



4.4

Question Number : 145 Question Id : 50521227253 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁﬁ%‘%ﬁﬁﬁaﬂmﬁmmm&%&iﬂuﬂ?ﬁﬁ?

, EmamE e R

. W EER A T B

3. THT 3T T 2 e ST )

4, ST 31T W90 17 I 37 AT 3 AH-ITH UF 919 WA d 2 90 2

[—

I~

e

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521227254 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T O 4 W 2R T o T T Wt o T G 212/ ) TP e T G
T e 910 P Tt 21 7 e e o T 3t et T e o e 2, e e
T 3 o, 37 e ST TR 9, TV e 1 T 127 | v 7t o o 1 e
D)

. TE=
). RIS
3. FTH AT
4, TEH
Options :
1.1
2.2

3.3



4.4

Question Number : 146 Question Id : 50521227254 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

R O W 4 W 3 2R T o T T Tt ot T RG22/ ) TP e T G
T e 910 P Tt 21 7 e e o T 3t et T e o e 2, e e
T 3 o, 37 e ST TR 9, TV e 1 T 127 | v 7t o o 1 e
R

. TE=
). RIS
3. FTH AT
4, TEH
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521227255 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e 1T T 1 ST 30T 3 oA R 7 5 e G T 1 A 80 20 21 8 e o P w
TR

| TR

), T fa

3, T fafiy

4, e v fae
Options :
1.1
2.2

3.3



4.4

Question Number : 147 Question Id : 50521227255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e T TS 3 AT ST 3 oA R ST e g e 2 T o ) 21 3 et o o w0
T T
| TR
), T fafy
3, T fa
4, e i fae
Options:
1.1
2.2
3.3

4.4

Question Number : 148 Question Id : 50521227256 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WIS o &1 TRaTHe Aol & a1 § 999 H 31 997 =)
|, URafiE HET F Ui 9 S % B0 T 97
SR % S YT AT SH-27 0 3 §Te & B9 T {797
3. TITHTIUTER §==9T & AT TR % o |1 % %7 T 97|
4. AT &R JTeaTde o UTEIE Herel 31 ST i o QT 3 B0 5 97|

-3

Options :
1.1
2.2
3.3
4.4



Question Number : 148 Question Id : 50521227256 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WIS o 3T TeFaTHe H1eet & a1 § {999 e &1 =97 F4
|. UTCRITE W % Tid THE S o B9 T 97|
. SATRAT % SI= T HTHTISTe #H-27 3 & |18 % B9 F A7)
3. TTHTIUTER ST & AT TR % o |1 % B9 § 97|
4. AT SR TTeaTdeA o U Herel 31 ST i o T 3 B0 5 97|

)

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521227257 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e e e o e g e e, 8 e e e
. T Tt 1 ST (e e e )
. T T 3 SN, T, e 7 Wl e el
il T ST 21 21 31T e T |
i\'.%ﬁﬂ'ﬁ%%ﬁﬁ?ﬁﬁﬁﬂ%l

Options :
1.1
2.2
3.3



4.4

Question Number : 149 Question Id : 50521227257 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e 3 i e e e v e, 8 e e
. v e 37 3w (¥ars oA e # fe)
. T T 3 A, HTRIeeeh AT 17 Qe 3 arie et
il ST ATV 21 T 3 et e el

i\'.%ﬁﬂ'ﬁ%%ﬁ?ﬁﬁﬁﬂ%l
L. (1), (1), (i11)
2. (1), (1), (iv)
3. (1), (i)
4. (11), (1v)
Options:
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 50521227258 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T T4 T e Ao O (a0 TR 1 et e <l 2, 921 o4 e v % Aot %
U 2 4 TR 2T

| T T 3 1 3 T % T4

2. o Tremeft o v e v

3. ¥ T

4, 7} 3 Fo0 e T T

Options :



1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 50521227258 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T Wmﬁﬂfmm%ﬂﬁdﬁﬁmm AR N A 2, T2 S e T ¥
TI0S % 741 AT 2
| F 9 3 T 5 TG o T
). T, T o e o e o
3, T TR A
4,9 o o e e
Options:
1.1
2.2
3.3

4.4



